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On page 11 Equation 2.1 should read: 

𝑉(𝑘(𝐚 + 𝐛)) = 𝑘(𝑉(𝐚) + 𝑉(𝐛)) 

 
On page 87 Equation 4.43 should read: 

𝐶(𝑆, 𝑡) = 𝑆𝑒−𝑞(𝑇−𝑡) − 𝑆𝑒−𝑞𝑎(𝑇−𝑡) + 𝑆𝑒−𝑞𝑎(𝑇−𝑡)𝑁(𝑑1) − 𝐾𝑒−𝑟𝑎(𝑇−𝑡)𝑁(𝑑2) 
 
On page 87 Equation 4.44 should read: 

𝑃(𝑆, 𝑡) = 𝐾𝑒−𝑟(𝑇−𝑡)𝐾𝑒−𝑟𝑎(𝑇−𝑡) + 𝐾𝑒−𝑟𝑎(𝑇−𝑡)𝑁(−𝑑2) − 𝑆𝑒−𝑞𝑎(𝑇−𝑡)𝑁(−𝑑1) 
 
On page 146 Equation 7.2 should read: 
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On page 146 Equation 7.3 should read: 

𝑚𝑜𝑑𝑖𝑓𝑖𝑒𝑑 𝑑𝑢𝑟𝑎𝑡𝑖𝑜𝑛, 𝑀𝑑𝑢𝑟 = −
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On page 232 the second sentence of the second paragraph should start: “The difference between the 
copulas in Figures 9.15 and 9.16 (or to be more precise the difference between their gradients, i.e. 
densities) is ...” 
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